GROSS ANATOMY EXAM 3 2004
1. Which of the following symptoms would NOT be observed following a lesion in the mandibular division of the right trigeminal nerve just inferior to the foramen ovale?

A. Uvula deviated to the left side

B. Hyperacusis

C. Chin deviates to the right when jaw is opened

D. Diminished taste

2. In a patient with a “closed-lock” jaw the 

A. Mandibular condyle is trapped in the mandibular fossa

B. Articular disc is trapped in the mandibular fossa
C. Mandibular condyle is trapped anterior to the articular eminence

D. Articular disc is trapped posterior to the articular eminence

3. Medial erosion of a perapical abscess of a mandibular canine would cause the infection to FIRST enter the

A. Masticator space

B. Sublingual space

C. Submandibular space

D. Parapharyngeal space

4. Which of the following nerve block injections would be employed to anesthetize the lingual gingiva of the maxillary teeth between the canine and the third molar?

A. Greater palatine

B. Infraorbital

C. Nasopalatine

D. Posterior superior alveolar

5. You observe that your patient’s soft palate and uvula deviate to the right when you ask your patient to say AHHH. This indicates that there could be a lesion in which of the following cranial nerves?

A. Left hypoglossal

B. Right glossopharyngeal 

C. Left vagus

D. Right trigeminal

6. A lesion in which of the following could cause a loss of secretion from the sublingual caruncle?

A. Greater petrosal nerve

B. Chorda tympani

C. Deep petrosal 

D. Lesser petrosal

7. Which of the following symptoms would be caused by a destructive lesion of all of the sympathetic fibers traveling along the external carotid artery?

A. Ptosis (drooping eyelid)

B. Miosis (constricted pupil)

C. Anhydrosis (loss of sweating) on the cheeks

D. All of the above

8. Subcutaneous cysts located along the anterior border of the sternocleidomastoid muscle could be remnants of the…

A. Pharyngeal pouches

B. Pharyngeal clefts

C. Thyroglossal duct

D. Thymus gland

9. Which of the following could NOT be caused by a lesion in the glossopharyngeal nerve?

A. Unilateral loss of gag reflex

B. Diminished production of saliva

C. Tongue deviates to one side when protruded

D. Diminished taste

10. Which of the following deficits could NOT be caused by a lesion in the facial nerve?

A. Ptosis

B. Diminished lacrimation 

C. Hyperacusis

D. Food accumulates between the teeth and the cheek when chewing

11. An irritative lesion of the trigeminal ganglion could cause pain in the..

A. Tongue

B. Mandibular teeth

C. TMJ

D. All of the above

12. All of the following are correct regarding the internal thoracic arteries EXCEPT?
A. Have bronchial artery branches that supply the lung

B. Can be part of an alternate path for blood to reach the descending aorta in the event of complete stenosis (closure) of the aorta immediately distal to the left subclavian artery. 

C. Give rise to the anterior intercostal arteries

D. Have superior epigastric branches that anastomose with the inferior epigastric arteries

13. Contraction of which of the following muscles would have the greatest potential of increasing the vertical dimension of the thoracic cavity?
A. Internal intercostal

B. Diaphragm

C. External intercostal

D. Scalenes

14. The intercostal nerves provide all of the following with sensory and/or motor innervation, EXCEPT?

A. Visceral pleura

B. Skin overlying intercostal spaces

C. External intercostal muscles

D. Parietal pleura

15. Pain associated with a decrease in blood supply to the heart (angina)

A. Travels along afferent axons contained in the greater splanchnic nerve

B. Is conducted only by dorsal roots of the upper thoracic spinal nerves

C. Is usually felt as a GVA type pain directly from the heart

D. Can be referred to the region of the jaw

16. Closure of the aortic semilunar valve is best heard

A. Parasternally in the right 2nd intercostal space

B. Along on the midclavicular line in the left 5th intercostal space

C. Parasternally in the left 3rd intercostal space

D. Parasternally in the right 4th intercostal space

17. The right 3rd aortic arch contributes to which of the following arteries?

A. Right subclavian

B. Right common and internal carotid

C. Brachiocephalic trunk

D. Arch of the aorta

18. The foramen ovale of the fetal heart

A. Forms between the primary and secondary septa of the interatrial wall

B. Is a transient opening between the ventricles before closure by the membranous s part of the interventricular septum

C. Primarily transports blood that returns to the heart by way of the superior vena cava

D. Normally contributes to function postnatally

19. Sympathetic innervation to the heart…

A. Includes preganglionic neuronal cell bodies in the gray matter of spinal cord segments T6 thru T12

B. Functions to slow the heart rate and reduce the force of cardiac contraction

C. Includes direct visceral nerves transporting preganglionic axons to sympathetic ganglia in the wall of the heart

D. Includes postganglionic neuronal cell bodies contained in the cervical chain ganglia and thoracic chain ganglia T1 thru T3

20. The right border of the heart is mainly composed of 

A. Right ventricle

B. Left atrium

C. Right atrium

D. Superior vena cava

21. The umbilical arteries

A. Transport oxygen poor blood to the placenta

B. Become the medial umbilical ligaments postnatally

C. Are located on the internal surface of the anterior abdominal wall

D. All of the above

22. Which of the following chambers of the heart has contact with the esophagus?

A. Left atrium

B. Right atrium

C. Left ventricle

D. Right ventricle

23. Which of the following structures contributes most to the posterior wall of the inguinal canal?

A. Inguinal ligament

B. Transversalis fascia

C. Lacunar ligament

D. Internal abdominal oblique muscle and fascia

24. Femoral hernias enter the thigh through the…
A. Superficial inguinal ring

B. Femoral canal located medial to the femoral vein

C. Femoral canal located lateral to the femoral artery

D. Saphenous hiatus (opening) of the deep fascia of the thigh

25. Which of the following pairings is INCORRECT?

A. Transverse abdominis muscle and fascia – cremaster muscle

B. Rectus abdominis contractions – flexion of trunk

C. Deep inguinal ring – opening into inguinal canal

D. Papaumbilical veins – direct tributaries of the portal system of veins

26. Which of the following statements about the abdominal wall is INCORRECT?

A. GSA pain fibers are found throughout the full thickness of the abdominal wall

B. The superficial inguinal ring is an opening in the aponeurosis of the external abdominal oblique

C. Unilateral contractions of the obliques and transverse abdominis can produce ipsilateral side bending

D. The umbilicus is located in the T12 dermatome

27. The common bile duct, portal vein and proper hepatic artery are located in the …

A. Greater omentum

B. Hepatoduodenal ligament

C. Gastrolienal ligament

D. Falciform ligament

28. Which of the following pairings is INCORRECT?

A. Sigmoid colon – sigmoid mesocolon

B. Jejunum – teniae coli

C. Mesentery – peritoneal attachment of an organ to the posterior abdominal wall

D. Stomach – completely peritonealized

29. Which of the following statements accounts for the sharp pain of an inflamed appendix?

A. GSA pain afferents form the cecum, to which it is connected are stimulated

B. GVA pain afferents in the body wall are stimulated

C. GSA pain afferents in the abdominal wall are stimulated when the appendix contacts the wall

D. Material that enters the appendix stimulates the GSA pain afferents in the mesoappendix

30. Which of the following organs is located near the right colic flexure?

A. Spleen

B. Cecum

C. Liver

D. Third part of the duodenum

31. Which of the following statements about the abdominal cavity is INCORRECT?

A. The epiploic foramen is the opening into the omental bursa

B. The transverse mesocolon attaches the transverse colon to the posterior abdominal wall

C. The bare area of the liver contacts the fundus of the stomach

D. The round ligament of the liver is the obliterated umbilical vein in adults

32. Parasympathetic innervation to the descending colon is supplied by…

A. Vagus nerves

B. Greater splanchnic nerves

C. Lesser splanchnic nerves

D. Pelvic splanchnic nerves

33. Which of the following statements about the diaphragm is CORRECT?

A. It is the chief muscle of expiration 

B. It is insensitive to somatic (GSA) pain

C. It has 3 major hiatuses or foramina

D. It is innervated by the vagus nerves as they pass through the esophageal hiatus
34. The transverse colon…

A. Contributes to the formation of the left colic flexure

B. Begins at the cecum

C. Is usually retroperitoneal in its position

D. Is completely supplied by branches of the inferior mesenteric artery

35. Nerves of the posterior abdominal wall that lie lateral to the psoas major muscle include all of the following EXCEPT?
A. Obturator

B. Ilioinguinal 

C. Subcostal 

D. Femoral

36. A lesion of which of the following nerves could cause damage to the preganglionic parasympathetic fibers to the ascending colon?

A. Lumbar splanchnics

B. Pelvic splanchnics

C. Vagus

D. Greater splanchnics

37. If a gastric ulcer perforated into the omental bursa, which of the following organs would most likely be affected?

A. Transverse colon

B. Jejunum

C. Spleen

D. Pancreas

38. All of the following statements concerning the duodenum are true EXCEPT…

A. The common bile duct drains into it

B. It is mostly retroperitoneal

C. It receives preganglionic parasympathetic innervation from the vagus nerves

D. The inferior mesenteric artery provides most of its blood supply

39. Rapid occlusion of which of the following arteries could result in ischemia (insufficient blood supply) to the cecum and appendix?

A. Middle colic

B. Ileocolic

C. Left colic

D. Right colic

40. Preganglionic sympathetic innervation to the hindgut is supplied by…

A. Greater splanchnic nerves

B. Lesser splanchnic nerves

C. Pelvic splanchnic nerves

D. Lumbar splanchnic nerves

41. Your patient aspirates a crown. It would have the greatest chance of entering the _________________main bronchus/lung.

42. The ____________________coronary artery usually supplies the sinuatrial (SA) node of the heart.
43. A puncture of the right lung that occurred at the 5th intercostal space along the scapular line would enter the ___________________lobe.

44. The _______________________________________begins at the cysterna chili and transports lymph to the veins in the left neck.

45. The greater omentum is directly attached to both the _________________________curvature of the stomach and the _________________________. 
46. Lymphatic drainage of the abdominal wall inferior to the umbilicus enters the ___________________lymph nodes.

47. Peritoneal reflections from the liver onto the diaphragm are the __________________________ligaments.

48. Thyroglossal cysts are frequently found just anterior or inferior to the _______________________bone.

49. Infections in the ___________________________sinus can cause pain in the upper teeth.

50. Drooling and asymmetric smile could be caused by a lesion in the __________________branch of the _____________________ cranial nerve.
